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In the diagram above the readings are:

	V
	12V

	A1
	0.5A

	A2
	0.3A


1. Calculate the resistance of  a)  R1   b) R2

2 . Calculate the power of R1

3 Calculate the energy transformed by R2 in 5 minutes.

4. Calculate the p.d. across  a) R1   b) R2

5. Calculate the charge that flows through R1 in 30 seconds

Potential Difference

Your specification gives you the relationship between  p.d., charge and energy in this form:
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Write the formula triangle for this relationship.
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6. The p.d. over the fixed resistor is 5V. A current of 0.2A flows through it for 20s.

Calculate the energy transferred by the resistor.

7. If the reading on the ammeter is 0.2A and the reading on the voltmeter over the terminals of the batter is 6V, calculate the energy transferred by the components in

a) 5 minutes
b) 1hr


8. In the  diagram above  how much energy is transferred by the lamp in 1hr?

9 A similar circuit is set up in which a lamp transfers 240 J in 1 minute. when the current is 0.2A. What is the potential difference over the lamp?

Mains Electricity

The electric current from a batter is d__________  c_________. ( d.c.) This means that 
the charge is flowing in _______ direction only.
This is not the case with mains electricity which is ___________ c_________ (a.c.)

This means that the current is c______________  d_____________ constantly.
The frequency of the mains in Britain is ______ ________ (Hz). This means that the current is changing direction _________ times per _________.

The potential __________  which is driving the current must also be changing with the 

same f____________.

The Oscilloscope

The oscilloscope is used to obtain a t______ (graph) of p.d. (in ______) against time (s)
The oscilloscope has an adjustable t_____ b______ ( x axis)  and an adjustable sensitivity to p.d. ( ____ axis)

10 On the screens below every vertical unit  represents 2V and the time base is set to 0.2 seconds per centimetre. On the first screen draw a trace representing a d.c. potential difference of 4V.
What happens to this trace if the battery is turned around? Draw the trace on the same screen.


11. What is the frequency of the a.c. potential difference represented on the second screen?
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Workthrough 3  - Potential Difference, Charge and Energy








